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SEEH 1.

STRAVA/8( )L p 165 2mmiBEIAER (447-1 )

-~ $1652 mm t=7.1 mm
+ p—— L el TH
%tﬂ)ﬁ %kg/i? EimT NILJ EimT NILJ EimT NILJ
& (/&) | (E/AX) | (Efr/AR) | (B/AR) | (E/A) | (JE/&X)
1.0 27.7 mL mL 1 2 1 2
1.5 416 mL mL 2 3 2 3
20 55.4 1 mL 3 4 3 4
3.0 83.1 2 2 5 6 5 6
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SEEH 2.

STRAVA/IN(IL p216.3mmiBEIAER (447-1 )

R -TiE ®216.3 mm t=12.0 mm
. P L i TH
%tﬂ)ﬁ %k;i? gifnT | T | HMMT [ LT | HMT | NLT
(/&) | (E/AX) | (Efr/AR) | (B/AR) | (E/A) | (JE/&X)
1.0 60.5 ;L ;L 1 2 1 2
15 90.8 ;L mL 2 3 2 3
2.0 121.0 1 ;L 3 4 3 4
3.0 181.5 2 2 5 6 5 6
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SEEH 3.

STRAVA/IN(IL P 267.4mmIBHEIAER (447-1 )

g -~Tik $267.4 mm t=120 mm
N = L el TH
%tﬂ)ﬁ %k%/i? BT N EimT N> EimT N>
& (BFr/A&) | (E/AX) | Em/A) | JE/A) | (Bf/AX) | (BE/X)
1.0 75.6 &mL mL 1 2 1 2
1.5 113.4 mL &\L 2 3 2 3
20 151.2 1 mL 3 4 3 4
3.0 226.8 2 2 5 6 5 6
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SEEH 4.

STRAVA/8(IL P 165 2mmiBXEIAER (44 7-1 )

-~ $1652 mm t=12.0 mm

N = i F X

%*”)E %k%/i% AT R #nT RS #nT T N

m £ (EF/A) | (B/A) | (@A) | B/ | (Ef/A) | JE/A)

1.0 27.7 1 mL 4 2 4 2

1.5 416 4 mL 6 3 7 3

2.0 55.4 6 1 9 4 9 4

3.0 83.1 11 3 14 6 14 6
1=1,000 100 L=1,000 00
2w = S PR
I T

30 | 40 | 30 |
1=1,500 150 ‘ !_:1,5(D 50
} 50 i200‘ 200x3-600 [2(1)} }200‘[ 200 x5=1000 i_fXX)
| LT [INENEE
| 30 | a0 | 600 |

1=2000 200 1=2,000 200
1 50 i 200x3-1000 i(X)(); 1200i 200x8-1600 iZ(X);
D (NN
\ 1800 | 20 | L aw | 40 | 60 | 40 | aw |
L3000 0 | L=3,000 20
} 50 0, 20x10-200 am} }200 20x132600
A I I A O O D O R A ’IIIIII“IIII'.HIIIVM
1 f 1800 /[400[600\ Llaw | a0 | &0 | L a0 | a0 /| 0|
T—F WS 2 Smipkk/ /5= VLI OBEOIG0) —QOH 04 |lm4 WS 2 Skt /)5 YT GRHEIG0)

(E£#10)

()

1=1,000 100
20 200 x3-600 20
[y )

)
I

\LLLI.L\

1=1,500 50

1 200 f_ 200 x6=1200 ‘[ ;100

R

=2000

2000 |
\200 200 x8=1600 izoo\[
WIH | MR
30 | 40 0 | 40 | a0 |
o w |
200, 200 x132500 Lom |
\ F' . . 1
T A O O O B R R A O
| @ | o | w | @ | w [ aw/f
L. 704 PSRN A=2 5mslE /) /N A—r VLI GEEN )

TEMEFED

N

(F41)



€9

SEEH 5.

STRAVA/IN(IL P 216.3mmiBEIAER (447-1 )

g -~Tik $2163 mm t=12.0 mm
. = i i TH
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%tﬂ)ﬁ %k;i? EimT N EimT N> EimT N>
(/&) | (E/AX) | (Efr/AR) | (B/AR) | (E/A) | (JE/&X)
1.0 60.5 1 mL 4 2 4 2
1.5 90.8 4 mL 6 3 7 3
20 121.0 6 1 9 4 9 4
3.0 181.5 11 3 14 6 14 6
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SEEH 6.

STRAVA/IN(IL ¢ 267.4mmIBHEIAER (44 7-1 )

Bi&- ik $267.4 mm t=12.0 mm
N = L1 el T4
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(#Er/A) | B/A) | (@Em/A) | JE/AX) | (E/AR) | @B/F)
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SEEH 7.
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g ~TiE ®1652mm t=7.1mm | $216.3mm t=12.0mm| ¢ 267.4mm t=12.0mm
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